
e2
{6Eqrrc=fr <t(qrfi-"t q:mEr

qffix<Iq,€ c<r\6

;rlq't sfi, ca1+<tftu'l', ufot

fmf6 *"ttry+-sr

www.nbr.gov.bd

qFt a<- oy.o} .oooo.oo5.og.o5g.st. o) O 58 $E[, 58tg <€rimffiqe
ets El-1ffi, toto Rc

RTsa r{Ttil cdtefl{H qN ettelFlr{ ,ffi' ffi elqfffid fifilg Standard Aptitude Test atffii
FEFF{ err+lrttrB el-sttt :T(u;ts !

E"F(ts' Rrrn-{ cdfr-cs rqrTfr cdtdNl{ qcs- cdtdt{krlrn "trqffiT fifrre Standard Aptitude
Test fu<:mfsat srr+qtttt $arrfi arelq-ftT T,FfuT sqrt{ q-{I fu{s-({ w{c<t{ T-{t qrEtt

x<1@a Standard Aptitude Test elffi< pqpa66 ffil

fu'tLo2e
offiaqt-<rt

@fix-< c-cTtft cG-{)
frqT cG-{ tr<r6 otq-q-sl

m.l{8 be5ts5Qo-l\b (,sg-e1 1 )//
\ryFn-{ Til-a{qtn

qmT;ilq-q GI6, fi+Tl

qFI {(- ov.o5.oooo.oo5.og.o5g.5b.

q-{frR qr-T w{'t&-d q-lr cs{"t q<l qrqtc

58 fiqt, 58tU <€FIlq

lu wqilft,lo\o Rg

: t <rfufls {qrj-ft, cl-qT tr<ri e-t]-T{), qrqT KM-q Kt6, E]351 Trslq-(T{ qq'T wot&K q-{l) 
t

a I <lfurls xq-Fl-ft, SalT {E< tr<fri em'}I{), qfqT Klq-q RM, El3rt cF< {-Rjqrr{ qqr q{'t&< q-{) 
I

L

(-fnfi-qqrf,D

@fix-< T{<fift {tr<)
frqT cE< tc<rr6 $"nxq-r)

-<;@-*qtnm*



wifi{ rlqq ffirg
qltfrE q-{Re't"t

Rqsr q|qs w"q ffik6{ rrqfift cdI$t{E q(s cdtdrryr{ "l-cq 'rffiffi Sqrffi{ ryCtF]' standffd Aptitude

'l'esr elftqi'l-g $EIr{F-a q(s'rgl

Bri{s fr.{I${ ,tRcsrrc qEr(4I qr[q (q, qrqT fiws C{rrw ftl6 gr['{-{-5 q3 tslso/Qo}b

grRrqlTEl{s{(-ob.o5.oooo.oo5.og.o5rb'5bAoo5(c)q&qqlIq''rtogE.{q{stfr€refiqrsEre
gst${r{ "fm "m8& S{( os/5vtosh \5Ifr(?H mS S.lH-{-) WRf€ q(-ob.o5.oooo.oo5.og.o5$.5b/}5o\b

qft,o qffir.t er q-{ qq-fifr (SIdffiF {q rx.|df5rrs "fiT 
afrqT{&R E(ffi' '[rnq egqTf{ etFr{l AWq

q(E,fS Standard Aptitude Test "t?W 
rlq asAvao$ sfR*l mq fq*tBsF TTd l:t?' qETIT ffi'{c

blte.{skg.fr,,Tffi<]''f,ntmFu3fl.e1651uE,Tc{w{frqq.Tl€w{frT1Tq-ffiobq*{q-qsTft($dHlT
q(xtd-cet 1:-(3-{l si-{ :q-Cii md $11-q1-5 €T le6olQo}b vi;frfqfd :Sff,E. q(-

ob.o:.oooo.oob.o\b.o5s.!b/5oo5(d) qftq qffi"fi o{, q-{ s-c$lfr CSt$t'qL< (o\l q{1<qfgf{qlqF otl

gi*{|{ ffiRlr qy{d Rrr}|-{ €T( o\3r qqR ffifiTf{ ffi$ sqx e <r{"{|&.-s Ess 'fffiT g'c-{I{ rar

silTq-< o\3 q-+rq "rmx& dqlfl,* "Br<S A.m.rerfir $Ffs{ deei F-sT C{Cs ellmr q qlrg'I, e56q,/Qo5b sIRc{F

Cqd gITIq-5 :ilRFp {(-ob.o5.oooo.oo5.og.o5\b.5h/5}o\b qfr{ qfmfi QC qq XETffr C$ldFIfCfK :I-RI'

s( ffi (o5l e-{R CqI: atFK ffia a1t q-{Ft cql: qTfr{* KTTTla orc I q-{f< oll.El{ SmHRt o8l rllT 1q({q

{m,{-q-st?nd€[.sqq" oc.t q-{l< vf*-g3 {Rfd qrxD "tffi{ q(,t${6t$GFll ,9{ Trtr oQ E-{ (o5l E;lFt 6fl:

q,ft{T 3q-{H oel gi*{I{ CqHrq. qTfrmf$ oqq e <Frqffr-s Esx 'ffuT 
-fs-sl{ E{l slffil oQ E;l-f,s

ffi{s'rq ,nmFe Aq|r;K q?ffij'qjt{E sIFFFt $q]rffil elt.qMfiq T|dST ${"1T-dt 6{"F "llr{l *.16 g{tq"{-:

.{? Esr x|*-rs-{ :r{+TA cilldfirr<-ft-{ sfr{ s <irElfr's Ssr "fftFrd sElsE qsq"rl(rrf cqT@ sTiI effi <F-{1'

q{l

{i{fu: oo (fu*; e11si11

(c{18

Fn'E{,{qrfrS
\9

qqqlrrfiq

Staildard Aptitude Test ffict Tffi I

t-cq$: mostafa.sa@nbr. gov.bd

6{Er{rl{
qrfir <lwq (rNf

c{t{<lfrEt, trFl5t

S e ntB q(- ob.o5.oooo.obrb.Q}.ooQ.}b.dQg sfftqc o5 ffi64q9 qosb

,,t

\t
\ -"/'t/!v

I



\ .L

:

a

Erft* rt.q-q 6<Ic6-{ c$dnfiK "rcq "mrf,&T 
qri] q\bAv,rort B. glkc{ sHftE Standard

Antitude Test ffi< s{f$q;

sr. ;tlT \e,ax ${ffi''{ cq,lb :[gEI

qlB1EFlrt{ $e.c \?b 1).C rs-+F

crTQl: qRT{ Rlrr{ eb eb 1\b fs-s]q

ffiAsTK ?xtqfin eg.c 8o qs.c TE-ol{

5 61; ilft*E E%-ll aa
qrs-fFf

,8 F: gffiIT EqTfi;{ a^c g8 T-s-$T{

.t! ('ft-flq qrr<HT3 iiQ sg tr: TE-SI{

e${ rq6Eq xpqE-Q-ul{-f<vf oo OO ao
q-fs-s-F(

1- Ttn-fl l-|ql"f, fi31 oo oo oo
q-f"srt{

A{ffiTq qcqlq)

ZLSt-6'---
>6.11..Lq g

twRq crRIT{ frr'-r*r6l(flt3
ffiT,!q'lR6

\a

cq-rycF<

Standard Aptitude'fest SR't

sT{16t

@
(TqTTq OftE< r<xn
FrSr eafr-S \e qFcI

Standard Aptitude Test $q"i
ETfi6

q-{$"rfi s-d{m'{

(ml8

csl$lEl-K s rrql
Standard Aptitude Test

flR"i n.frE
salr s cTf'ff(!.t't alfu Re"rtt

A,1C{g11g. 1qrllrg.f$_t s )T{.qI

Standard Aptitude Test dqol

S]{TF

Tt(qtfi-"f TftEEtF r"rBfr -{

M S.ry1l,a)
(sr. flr8 <tffiTo q<') c18 qftg{ iiqfiT)-

S+{tr{ e qrmi

Standard Aptitude Test
dqq sfr6

qwsftq w{q frsft

F11"fTr sfl-G*El< s qffir+
Standard Aptitude'l'est Sq"l

T"TTT6

&;
$r.

p

[:

t
lr

t;
tl

:,:,

.::,,

.t.i

I
r!


